Parenthesis, Exponents, N :
SUPERSTAR Multiplication,Division, Addition ame
WOR‘SHEETS Problems Date:

Find the answer to each problem using the order of operations.

8 x (92 + 32) = (4+3)x 6=

(7 x4Y)x2 = (3x7+25)+5 =

0% (4 x M) = B+ +7%2-=

H+8 (78 +2) = (3xYx8)+I-=

2+ +3x5%)= 2x9+(0+5) =

(7% 4)+5= (30 +6+5)x10 =
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Find the answer to each problem using the order of operations.

8 x(92+32)=23

(4 +3)x 6% =252

(7 x4) x 2 =392

(3x7+25)+5=6l

10% (4 x M) = 226

(8+9)+7%2=68

H+8 (78 +2) =326

(3x4%8) +1=2385

2+(5+3x5)=92

2x9+(0+5) =20

(7x4) + 5 = 20|

(30 +6+5)x10 =100
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